
 
 

1  

 

Puzzle Questions For SBI Clerk Exam 
 
Directions (1-5): Study the following information carefully and answer the given questions. 
Seven persons A, B, C, D, E, F and G have exam on seven different days of the same week starting from Sunday to 
Saturday.  
More than three persons has exam before E. G has exam before D and only two people has exam between them. 
C has exam immediate before A and none of them has exam on Monday. B has exam immediate before F. The 
number of persons has exam between F and G is less than number of persons has exam between D and A. 
 
Q1. Who has exam on Monday? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
 
Q2. Who has exam just before F? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
 
Q3. How many persons have exam in between B and C? 
(a) More than three 
(b) One 
(c) Two 
(d) Three 
(e) No one 
 
Q4. Who has exam on Saturday? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
 
Q5. Who has exam just after E? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
 
Directions (6-10): Study the following information carefully and answer the given questions. 
Amongst Six friends, P, Q R, S, T and U, each got different marks in the examination. T score more marks than U 
and P.  R score more marks than U but less marks than S. P does not score marks that is an odd number. S score 
marks that are an odd number. S score more marks than T and does not score highest marks. R does not score 
less than T. The one who scored the minimum marks scored 29 marks and the one who scored the highest, scored 
80 marks.  
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Q6. Who scored the lowest marks? 
(a) P 

(b) U 
(c) S 

(d) Q 
(e) R 

 

Q7. Who among the following Person has scored third highest marks? 
(a) Q 

(b) R 
(c) T 

(d) S 
(e) Either (b) or (c) 

 
Q8. If T score 60 marks than what may be the score of R? 

(a) 56 
(b) 81 

(c) 68 
(d) 89 

(e) 59 

 
Q9. What is possible score of S? 

(a) 76 
(b) 88 

(c) 98 
(d) 87 

(e) None of these 
 

Q10. Who among the following persons score more than P and less than S? 
(a) R 

(b) Q 
(c) T 

(d) Both (a) and (c) 

(e) S 
 

Directions (11-15): Study the following information and answer the given questions. 
There are six boxes having different weight. Each box contains different number of candies- 2, 3, 4, 5, 6 and 1 but 

not necessarily in the same order.  
R contains more candies than M and R’s weight more than O, which contains odd number of candies. Box N 

contains 4 candies. P weighs more than only O. M weighs more than Q and N, but less than R. Box Q contains 2 
candies and Q’s weight is more than N. The difference between the number of candies of box M and N is 1 and 

Box M contains more than 3 candies.   
 

Q11. Which of the following box contains highest number of candies? 
(a) R 

(b) Q 

(c) O 
(d) M 

(e) None of these 
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Q12. Which of the following box is third heaviest box? 
(a) P 
(b) O 
(c) R 
(d) Q 
(e) None of these 
 
Q13. What is the difference between number of candies between box R and Q? 
(a) 3 
(b) 1 
(c) 4 
(d) 2 
(e) None of these 
 
Q14. Which of the following box is heavier than N but lighter than M? 
(a) O 
(b) Q 
(c) R 
(d) P 
(e) None of these 
 
Q15. How many boxes are lighter than Q? 
(a) One 
(b) Two 
(c) Three 
(d) More than Three 
(e) None 
 
Directions (16-20): Answer the questions based on the following information. 
There are ten shelves in a cupboard such that the bottommost shelf is numbered as 1, just above it is numbered 
as 2 and so on till the topmost shelf is numbered as 10. Eight gift boxes are placed in these shelves such that two 
shelves are vacant. (Note: Two consecutive shelves are not vacant). 
There is one box placed below box B. There is two shelves gap between box B and box P which is placed just below 
the vacant shelf. Box Q is placed above box P at an even numbered shelf but not at the topmost shelf. One box is 
placed between box Q and box C. Box S is placed just below box A but above 2nd numbered shelf. Box A doesn’t 
place at the topmost shelf. Sum of the shelf number of box R and box Q is equal to the shelf number of box D. 
 
Q16. How many boxes are placed between box A and box R? 
(a) None 
(b) One 
(c) Two 
(d) Three 
(e) Four 
 
Q17. Which of the following box is placed just above box Q? 
(a) Box D 
(b) Box S 
(c) Box R 
(d) No box 
(e) None of these 
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Q18. How many boxes are placed below box P? 
(a) One 

(b) Four 
(c) Three 

(d) Two 
(e) Five 

 

Q19. What will be the sum of the shelf number of box B and box S? 
(a) 6 

(b) 7 
(c) 5 

(d) 4 
(e) None of these 

 
Q20. Which of the following shelf is vacant? 

(a) Shelf10 
(b) Shelf 5 

(c) Shelf 8 
(d) Shelf 7 

(e) Both shelf 7 and 5 

 
Directions (21-25): Study the given information carefully and answer the related questions: 

Eight persons P, O, L, I, U, Y, H and R live on different floor of a four-building where ground floor is numbered as 
1, the floor just above it is numbered as 2 and so on till the topmost floor is numbered as 4. Each floor has two 

flats i.e., flat 1 and flat 2 (from west to east in the same order as given).  
Two floors gap between U and O and they live in different numbered flat. L lives on the same floor of O and to the 

north of R. One floor gap between R and P.  Y lives north-west of H. 
 

Q21. Who among the following lives just below I’s flat? 
(a) P 

(b) U 
(c) No one 

(d) H 

(e) None of these 
 

Q22. Four among the following five are same in a certain way and forms a group. Who among the following 
does not belong to the group? 

(a) Y 
(b) R 

(c) P 
(d) U 

(e) I 
 

Q23. Which of the following statement is correct? 
(a) P lives in flat 2 

(b) One floor gap between H and O 

(c) L and Y live in same numbered flat 
(d) I lives on 3rd floor 

(e) All are correct 

https://applink.adda247.com/d/XhqWf9lSap
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Q24. Who among the following lives just north-east of P? 

(a) H 

(b) I 

(c) L 

(d) O 

(e) None of these 

 

Q25. What is the direction of Y with respect to U? 

(a) North-east 

(b) South 

(c) North-west 

(d) South-west 

(e) None of these 

 

Directions (26-30): Study the following information carefully and answer the questions given below. 

Seven persons from P to V live on different floors (but not necessarily in the same order) of a seven-floored 

building. The floor numbers are 1, 2, 3, 5, 7, 11 and 13 from bottom to top.  

Four persons live between Q and P who lives just below R. Difference between the floor number of V and U is 

equal to the floor number of R. Three persons live between U and T. 

 

Q26. How many persons live below S? 

(a) One 

(b) None 

(c) Two 

(d) Three 

(e) Four 

 

Q27. What will be the sum of the floor number of P and U? 

(a) 12 

(b) 7 

(c) 4 

(d) 6 

(e) Can’t be determined 

 

Q28. Which of the statement is/are true? 

(a) T lives on the topmost floor 

(b) Two persons live between S and R 

(c) V lives above P 

(d) At least three persons live below Q 

(e) All are true 

 

Q29. Four of the following five are alike in a certain way and thus forms a group, then who among the 

following doesn’t belong to that group? 

(a) Q 

(b) P 

(c) T 

(d) R 

(e) U 
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Q30. Who among the following lives two persons below V? 

(a) U 

(b) R 

(c) P 

(d) Either U or P 

(e) Either R or U 

 

Directions (31-35): Study the information carefully and answer the questions given below. 

Eight persons A, B, C, D, P, Q, R and S are living in a four-story building such as ground floor is numbered as 1, 

just above it is floor numbered as 2 and so on till the topmost floor is numbered as 4. Each of the floors has 2 flats 

in it viz. flat-1 and flat-2. Flat-1 of floor-2 is immediately above flat-1 of floor-1 and immediately below flat-1 of 

floor-3 and so on. In the same way flat-2 of floor-2 is immediately above flat-2 of floor-1 and immediately below 

flat-2 of floor-3 and so on. Flat-1 is in west of flat-2. 

There are two floors gap between P and D but both of them does not live in the same flat. S lives on an odd 

numbered floor and to the west to of B’s flat. Only one floor gap is between P and C.  C and D live in the different 

flat. A is living above Q’s floor in the same flat. P lives on an even numbered floor. R is living on an even numbered 

flat. 

 

Q31. Who among the following lives in flat-1 of 3rd floor? 

(a) R 

(b) S 

(c) D 

(d) None of these 

(e) Q 

 

Q32. Who among the following is/are living with C in the same numbered flat? 

(a) P 

(b) S 

(c)  Both (A) and (D) 

(d) B 

(e) Q 

 

Q33. Which among the following combination is/are true? 

(a) A- Flat1 

(b) S- Floor 3 

(c) R- Flat 2 

(d) R- Floor 1  

(e) All are true 

 

Q34. How many floors   are there between R and S? 

(a) None 

(b) None of these 

(c)Two 

(d) One 

(e) Either one or two 
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Q35. The number of floors gap between S and Q is same as the number of floors gap between ___. 

(a) Q-A 

(b) P-R 

(c) B-C 

(d) S-R 

(e) B-D 

 

Directions (36-40): Study the following information carefully and answer the questions given below. 

Nine persons from A to I works as a sales agent in four different insurance company viz., Max Life, Bajaj Alliance, 

LIC and Tata AIA. 

Note: Consecutive named persons according to English alphabetical series doesn’t work in same company and 

also at least two persons works in same company. 

A neither works in Bajaj Alliance nor in Tata AIA. H works in Bajaj Alliance. C works only with G but not in Tata 

AIA. B doesn’t work with H. E and I work in same company but not with A. F works in Max Life. 

 

Q36. Who among the following works in LIC? 

(a) A 

(b) C 

(c) B 

(d) E 

(e) None of these 

 

Q37. Which of the following statement is correct? 

(a) A works in LIC 

(b) H works with D 

(c) I works with D 

(d) Three persons work in Max Life 

(e) All are correct. 

 

Q38. Which of the following combination is correct? 

(a) I- Tata AIA 

(b) C- Max Life 

(c) A- LIC 

(d) D –Tata AIA 

(e) None is correct 

 

Q39. Which of the following statement is/are correct? 

I. C and G work in LIC 

II. E, I and B work in same company 

III. D works with A 

(a) Only statement I is correct 

(b) Only statement II is correct 

(c) Only statement III is correct 

(d) Both statements I and II are correct 

(e) Both statements II and III are correct 

https://applink.adda247.com/d/XhqWf9lSap
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Q40. D works in which of the following company? 

(a) LIC 

(b) Max life 

(c) Bajaj Alliance 

(d) Tata AIA 

(e) Either LIC or Bajaj Alliance 

 

Directions (41-45): Study the following information carefully and answer the questions given below. 

Seven students S, A, T, Q, U, K and B study in six different classes viz. III, IV, V, VI, VII, VIII and IX but not necessarily 

in the same order.  

T neither study in class VII nor in class IX. B study in class III. Q doesn’t study in class IX, VIII and VI. A neither 

study in class IX nor in class VI. K and S doesn’t study in class IX, VIII and VII. A doesn’t study in class VIII, V and 

VII. K doesn’t study in class VI. 

 

Q41. U study in which of the following class? 

(a) VII 

(b) IX 

(c) VIII 

(d) V 

(e) None of these 

 

Q42. Who among the following study in class V? 

(a) Q 

(b) U 

(c) K 

(d) None of these 

(e) T 

 

Q43. Which of the following combination is correct? 

(a) U- class V 

(b) T- class VIII 

(c) S – class IV 

(d) Q – class VI 

(e) All are correct 

 

Q44. What is the difference between the classes of A and K? 

(a) One 

(b) Two 

(c) Three 

(d) Four 

(e) None of these 

 

Q45. Who among the following study in that class which is divisible by both 2 and 3? 

(a) Q 

(b) U 

(c) K 

(d) S 

(e) None of these 
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Directions (46-50): Study the given information carefully and answer the questions accordingly: 

Nine persons were born in three different months i.e., March, April and May on three dates 3, 8 and 25 in the same 

year. Mona was born on 8th of any month before Radha and both were born on same date.  

The number of persons born between Mona and Radha is same as the person born before Neha. Four persons 

were born between Neha and Puja who was born just before Sneha. Gita was not born in the month of 30 days. 

No one was born between Riya and Rina who was not born on the same date as Gita was born. Nidhi is one of the 

persons. 

 

Q46. Nidhi was born on which date? 

(a) 25th April 

(b) 3rd March 

(c) 3rd April 

(d) 3rd May 

(e) None of these 

 

Q47. How many persons were born between Mona and Rina? 

(a) None of these 

(b) Six 

(c) Five  

(d) Three 

(e) Four  

 

Q48. ___ was born on 8th May? 

(a) Nidhi 

(b) Riya 

(c) Puja 

(d) Radha 

(e) None of these 

 

Q49. Which of the following combination is correct? 

(a) Neha – 25th April 

(b) Mona – 8th April 

(c) Rina – 3rd March 

(d) Riya – 8th April 

(e) Gita – 3rd March 

 

Q50. Equal number of persons were born before and after ____? 

(a) Nidhi 

(b) Mona  

(c) Radha 

(d) Rina  

(e) None of these 

 

Directions (51-55): Study the following information carefully and answer the questions given below. 

Nine boxes are kept in nine different shelves of a cupboard such that the bottommost shelf is numbered as 1, just 

above the shelf 1 is numbered as 2 and so on till the topmost shelf is numbered as 9.  
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Number of boxes kept above box N is 2 more than the number of boxes kept below box N. Two boxes are kept 

between box N and box M. Box R is placed two places above box M. Box C is kept on an odd numbered shelf below 

box N. Sum of the shelf number of box Z and box P is equal to the shelf number of box L. Difference between the 

shelf number of box P and box C is equal to box K. Box S is placed below the 5th shelf. Box Z and box P are placed 

at even numbered position.  

 

Q51. Which of the following box is kept at the 3rd shelf? 

(a) Box C 

(b) Box K 

(c) Box S 

(d) Box M 

(e) None of these 

 

Q52. How many boxes are kept between box Z and box L? 

(a) Four 

(b) Three 

(c) Five 

(d) Six 

(e) None of these 

 

Q53. Four of the following five are alike in a certain way and thus forms a group, which of the following 

doesn’t belong to that group? 

(a) Box Z 

(b) Box N 

(c) Box P 

(d) Box K 

(e) Box L 

 

Q54. What will be the sum of the shelf number of box R and Box S? 

(a) 11 

(b) 10 

(c) 15 

(d) 13 

(e) 12 

 

Q55. Which of the following box is kept just below box M? 

(a) Box P 

(b) Box S 

(c) Box C 

(d) Box Z 

(e) None of these 

 

Directions (56-60): Study the following information carefully and answer the questions given below. 

Eight persons Suraj, Puja, Kiran, Suman, Priya, Raj, Riya and Karan were born in eight different months viz. 

January, March, April, May, July, September, October and December but not necessarily in the same order. 

(Note: Person’s name starting with same letter don’t born just before and just after each other). 

Puja was born in the month having least number of days. Three persons were born between Puja and Karan. 

Number of persons born after Karan is same as born before Kiran who was born just after Suraj. Two persons 

were born between Priya and Raj. Suman was born before Riya. 
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Q56. How many persons were born between Raj and Kiran? 
(a) Two 

(b) Three 
(c) Four 

(d) Five 
(e) More than five 

 

Q57. Who among the following was born in September? 
(a) Suman 

(b) Puja 
(c) Riya 

(d) Karan 
(e) None of these 

 
Q58. Four of the following five are alike in a certain way and thus forms a group, then who among the 

following doesn’t belong to that group? 
(a) Suman 

(b) Suraj 
(c) Raj 

(d) Karan 

(e) Riya 
 

Q59. Who among the following was born just before Suman? 
(a) Raj 

(b) Puja 
(c) Kiran 

(d) Either Raj or Puja 
(e) Either Puja or Kiran 

 
Q60. In which of the following month Priya was born? 

(a) July 
(b) September 

(c) October 

(d) May 
(e) December 

 
Directions (61-65): Study the following information carefully and answer the questions given below. 

Eight boxes A, B, C, D, E, F, G and H are placed one above the another but not necessarily in the same order. Five 
boxes are placed between box A and box B. Box G is placed below box B. Three boxesare placed between box G 

and box F. As many boxes are placed between box A and box F as placed between box B and box F. More than three 
boxes are placed between box D and box B. Box H is placed immediately above box C. Box E is not placed below 

box F. 
 

Q61. How many boxes are placed between box H and box A? 
(a) One 

(b) Two 

(c) Four 
(d) Five 

(e) None of these 
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Q62. If all the boxes are arranged according to the alphabetical order from top to bottom, then position 

of how many boxes will remain unchanged? 

(a) One 

(b) Two 

(c) Three 

(d) None 

(e) None of these 

 

Q63. Four of the following five pairs are alike in a certain manner and hence form a group. Find the one 

pair that does not belong to that group? 

(a) Box D and Box E 

(b) Box C and Box B 

(c) Box F and Box H 

(d) Box B and Box G 

(e) Box E and Box H 

 

Q64. Which among the following box is placed just below box E? 

(a) Box D  

(b) Box H 

(c) Box F  

(d) Box B 

(e) None of these 

 

Q65. If box A is related to box G and box D is related to box B, then box F is related to which of the following 

box in the same pattern? 

(a) Box C  

(b) Box E 

(c) Box H  

(d) Either Box C or Box H 

(e) None of these 

 

Directions (66-70): Study the following information carefully and answer the questions give below. 

Eight persons from A to H visit Maldives on 4th and 15th of five different months viz., January, March, April and 

July of a year but not necessarily in the same order. 

(Note: Consecutive named persons according to English alphabetical series doesn’t visit just before and just after 

to each other). 

Three persons visit between B and F who visits in the month having least number of days.A visit immediate before 

D but in different months.C visits before H but not in 15th of any month. More than two persons visit between F 

and E. 

 

Q66. Who among the following persons visit on 15thApril? 

(a) G 

(b) E 

(c) F 

(d) B 

(e) None of these 
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Q67. How many persons visit between C and G? 

(a) None 

(b) Two 

(c) Three 

(d) One 

(e) Four 

 

Q68. Which of the following combination is correct? 

(a) B- 15thJanuary 

(b) G- 4thMarch 

(c) H- 15th July 

(d) C- 4th July 

(e) All are correct 

 

Q69. If all the person are arranged according to the alphabetical order from top to bottom, then the 

position of how many persons will remain unchanged? 

(a) None 

(b) One 

(c) Three 

(d) Four 

(e) Two 

 

Q70. Four of the following five are alike in a certain way and thus forms a group, find the one who doesn’t 

belong to that group. 

(a) A 

(b) E 

(c) B 

(d) F 

(e) H 

 

Directions (71-75): Study the following information carefully an answer the questions given below. 

Seven persons have different designations i.e., General Manager (GM), Deputy General Manager (DGM), Assistant 

General Manager (AGM), Assistant Manager (AM), Section Officer (SO), Cashier and Clerk in a company. The order 

of seniority is the same as given above i.e., GM is the senior-most designation and Clerk is the junior-most 

designation.  

At most two persons are junior to W. There are two designations between W and H who is just junior to K. Number 

of persons senior to H is same as number of persons are junior to Y. P is senior to S but just junior to V. 

 

Q71. Who among the following is Assistant Manager (AM)? 

(a) Y 

(b) V 

(c) P 

(d) H 

(e) None of these 
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Q72. How many persons are junior to V?  
(a) One 

(b) Two 
(c) Three 

(d) Four 
(e) More than four 

 
Q73. Four of the following five are like in a certain way and thus forms a group, which among the following 

doesn’t belong to that group? 

(a) K -DGM 
(b) V - AM 

(c) W- Cashier 
(d) Y- Clerk 

(e) S- AGM 
 

Q74. Which of the following designation is of H? 
(a) DGM 

(b) AGM 
(c) Cashier 

(d) Clerk 
(e) None of these 

 

Q75. How many designations are there between S and K? 
(a) None 

(b) One 
(c) Two 

(d) More than three 
(e) Three 

 
Directions (76-80): Study the following information carefully and answer the questions given below. 

Nine boxes numbered from 1 to 9 are placed one above the other but not necessarily in the same order. 
At most two boxes are placed below box 6. Six boxes are placed between box 6 and box 3. Two boxes are placed 

between box 3 and box 5 which is two places above box 4. Sum of the boxes which is placed at 4th and 5th position 
from bottom is equal to the box which is placed at 2nd position from bottom. Box 1 is placed just above box 8 and 

below box 9. 

 
Q76. How many boxes are placed between box 6 and box 8? 

(a) One 
(b) Two 

(c) Four 
(d) Five 

(e) None of these 
 

Q77. Which of the following box is placed at the topmost position? 
(a) Box 9 

(b) Box 3 
(c) Box 2 

(d) Box 5 

(e) None of these 
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Q78. What will be the difference between the boxes number which is placed at 2nd position from top and 
3rd position from bottom? 
(a) 4 
(b) 3 
(c) 5 
(d) 2 
(e) 1 
 
Q79. Which among the following box is placed just below box 5? 
(a) Box 1 
(b) Box 9 
(c) Box 2 
(d) Box 7 
(e) None of these 
 
Q80. If box 9 is related to box 1 and box 3 is related to box 8, then box 5 is related to which of the following 
box in the same pattern? 
(a) Box 7 
(b) Box 2 
(c) Box 4 
(d) Box 6 
(e) None of these 
 
Directions (81-85): Study the following information carefully and answer the questions given below. 
Nine persons live in nine different floor of a building such that the bottommost floor is numbered as 1, just above 
it is numbered as 2 and so on till the topmost floor is numbered as 9. 
Equal number of persons live below and above A. Three persons live between A and F. Number of persons live 
above F is same as live below C. G lives on an odd numbered floor but below 5th floor. B lives just above H and just 
below I. More than two persons live between C and E who lives above D. 
 
Q81. Who among the following persons live on 7th floor? 
(a) H 
(b) B 
(c) I 
(d) C 
(e) D 
 
Q82. How many persons live between I and D? 
(a) One 
(b) Three 
(c) Four 
(d) Two 
(e) More than four 
 
Q83. Who among the following lives three floors above G? 
(a) H 
(b) F 
(c) C 
(d) E 
(e) I 
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Q84. Four of the following are a like in a certain way and thus forms a group, then who among the 

following doesn’t belong to that group? 

(a) C 

(b) B 

(c) E 

(d) G 

(e) F 

 

Q85. Who among the following lives just below A? 

(a) F 

(b) D 

(c) G 

(d) E 

(e) I 

 

Directions (86-90): Study the following information carefully and answer the questions given below.  

Nine persons like three different subjects viz., Reasoning, Quants and English. Not less than two persons and not 

more than four persons like same subject. 

P likes Quants. A and O likes the same subject but not Quants. B likes a subject only with M. U likes reasoning. K 

and Y likes same subject. R doesn’t like Quants. 

 

Q86. Who among the following likes Reasoning? 

(a) R 

(b) B 

(c) M 

(d) K 

(e) Both K and R 

 

Q87. Who among the following likes English? 

(a) B 

(b) M 

(c) R 

(d) Both B and M 

(e) None of these 

 

Q88. Which of the following statement is true? 

(a) K likes English. 

(b) A and R like same subject 

(c) O and Y like same subject 

(d) B doesn’t likes English 

(e) All are true 

 

Q89. Which of the following combination is not true? 

(a) O- English 

(b) K - Quants 

(c) B- English 

(d) R- Reasoning 

(e) None is true 
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Q90. Which of the following pairs doesn’t like same subject?  
(a) O, R 
(b) P, Y 
(c) A, U 
(d) R, K 
(e) None of these 
 
Directions (91-95): Study the following information carefully and answer the questions given below. 
Four boys Ram, Shyam, Aryan and Ankur and three girls Tina, Esha and Leena appearing in an exam on seven 
different days of a week starting from Monday to Sunday but not necessarily in the same order. 
(Note: Not more than two same gender persons appear in the exam just before and just after each other). 
Only one student appears in the exam after Leena. At least three students appear in the exam between Leena and 
Shyam. Esha appears just after Tina who appears after Ram. Number of students appears before Ram is same as 
number of students appears after Ankur. 
 
Q91. How many students appear in the exam after Aryan? 
(a) One 
(b) None 
(c) Two 
(d) Three 
(e) More than three 
 
Q92. Who among the following appears in the exam on Thursday? 
(a) Tina 
(b) Ankur 
(c) Aryan 
(d) Esha 
(e) Can’t be determined 
 
Q93. Which of the following combination is correct? 
(a) Ram- Tuesday 
(b) Ankur- Saturday 
(c) Tina- Wednesday 
(d) Aryan- Sunday 
(e) All are correct 
 
Q94. If Ram is related to Ankur in the same way Shyam is related to Leena, then who among the following 
is related to Aryan? 
(a)Tina 
(b) Esha 
(c) Ankur 
(d) Either Tina or Esha 
(e) None of these 
 
Q95. How many students appear in the exam between Ankur and Shyam? 
(a) None 
(b) Two 
(c) One 
(d) Three  
(e) More than three 
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Directions (96-100): Study the information carefully and answer the questions given below. 

A certain number of boxes are placed in a stack one above other. Box H is placed just above box G. Only two boxes 

are placed between G and F. Four boxes are placed between F and V. Only two boxes are placed between V and 

X, which is below box V. As many boxes between box H and box C as many boxes are placed between C and X.  

More than twelve boxes are placed between the box which is placed bottom most and T. Not more than one box 

placed between Box H and box T. box T placed topmost of stack. Two boxes are placed between box F and L. 

 

Q96. How many boxes are placed in the stack? 

(a) Twelve 

(b) Thirteen 

(c) Eleven 

(d) Fourteen 

(e) None of these 

 

Q97. Which of the following box is placed just below box C? 

(a) V 

(b) F 

(c) H 

(d) L 

(e) None of these 

 

Q98. How many boxes are placed between box V and H? 

(a) Six 

(b) Seven 

(c) Four 

(d) More than seven 

(e) None 

 

Q99. If box D is placed just below box G, then how many boxes are placed between Box T and Box D? 

(a) Two 

(b) Four 

(c) Three 

(d) None 

(e) One 

 

Q100. Which of the following box is placed at bottom of stack?  

(a) V 

(b) L 

(c) G 

(d) H 

(e) X 
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Solutions 
 

Solutions (1-5): 

Sol. 

Day Person 

Sunday G 

Monday B 

Tuesday F 

Wednesday D 

Thursday E 

Friday C 

Saturday A 

 

S1. Ans. (b) 

 

S2. Ans. (b) 

 

S3. Ans. (d) 

 

S4. Ans. (a) 

 

S5. Ans. (c) 

 

Directions (6-10): 

Sol.  

 
 

S6. Ans. (b) 

 

S7. Ans. (b) 

 

S8. Ans. (c) 

 

S9. Ans. (e) 

 

S10. Ans. (d) 

 

Solutions (11-15):  

Sol. R (6)>M (5)>Q (2)>N (4)>P (1/3)>O (1/3) 

 

S11. Ans. (a) 

 

S12. Ans. (d) 

 

S13. Ans. (c) 
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S14. Ans. (b) 

 

S15. Ans. (c) 

 

S16. Ans. (c) 

Sol.  

 
 

S17. Ans. (a) 

Sol.  

 
 

S18. Ans. (b) 

Sol.  
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S19. Ans. (b) 

Sol.  

 
 

S20. Ans. (d) 

Sol.  

 
 

S21. Ans. (a) 

Sol.  

 
 

S22. Ans. (e) 

Sol.  
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S23. Ans. (b) 

Sol.  

 
 

S24. Ans. (a) 

Sol.  

 
 

S25. Ans. (c) 

Sol.  

 
 

S26. Ans. (e) 

Sol.  

 
 

S27. Ans. (c) 

Sol.  
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S28. Ans. (e) 

Sol.  

 
 

S29. Ans. (d) 

Sol.  

 
 

S30. Ans. (b) 

Sol.  

 
 

S31. Ans. (b) 

Sol. 

 
 

S32. Ans. (c) 

Sol. 
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S33. Ans. (e) 

Sol. 

 
 

S34. Ans. (d) 

Sol. 

 
 

S35. Ans. (c) 

Sol. 

 
 

S36. Ans. (b) 

Sol. 

 
 

S37. Ans. (b) 

Sol.  

 
 

S38. Ans. (a) 

Sol.  
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S39. Ans. (d) 

Sol.  

 
 

S40. Ans. (c) 

Sol.  

 
 

S41. Ans. (b) 

Sol.  

 
 

S42. Ans. (c) 

Sol.  

 
 

S43. Ans. (b) 

Sol. 
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S44. Ans. (a) 

Sol.  

 
 

S45. Ans. (d) 

Sol.  

 
 

S46. Ans. (c) 

Sol.  

 
 

S47. Ans. (d) 

Sol.  
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S48. Ans. (c) 

Sol.  

 
 

S49. Ans. (e) 

Sol.  

 
 

S50. Ans. (c) 

Sol.  

 
 

S51. Ans. (c) 

Sol.  
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S52. Ans. (c) 

Sol.  

 
 

S53. Ans. (d) 

Sol.  

 
 

S54. Ans. (e) 

Sol.  

 
 

S55. Ans. (a) 

Sol.  
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S56. Ans. (d) 

Sol.  

 
 

S57. Ans. (c) 

Sol.  

 
 

S58. Ans. (e) 

Sol.  

 
 

S59. Ans. (b) 

Sol.  
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S60. Ans. (a) 

Sol.  

 
 

S61. Ans. (e) 

Sol.  

 
 

S62. Ans. (a) 

Sol. Only one box i.e., box A will remain unchanged. 

 
 

S63. Ans. (e) 

Sol.  
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S64. Ans. (c) 

Sol.  

 
 

S65. Ans. (c) 

Sol.  

 
 

S66. Ans. (c) 

Sol. 

 
 

S67. Ans. (c) 

Sol. 
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S68. Ans. (e) 

Sol. 

 
 

S69. Ans. (c) 

Sol. Three persons i.e., B, F and H will remain unchanged. 

 

Months Dates Persons Alphabetical 

Order 

January 4 E A 

15 B B 

March 4 G C 

15 A D 

April 4 D E 

15 F F 

July 4 C G 

15 H H 

 

S70. Ans. (b) 

Sol. 

 
 

S71. Ans. (c) 

Sol.  
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S72. Ans. (d) 

Sol.  

 
 

S73. Ans. (e) 

Sol.  

 
 

S74. Ans. (a) 

Sol.  

 
 

S75. Ans. (d) 

Sol.  
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S76. Ans. (c) 

Sol.  

 
 

S77. Ans. (a) 

Sol.  

 
 

S78. Ans. (e) 

Sol.  

 
 

S79. Ans. (c) 

Sol.  
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S80. Ans. (c) 

Sol.  

 
 

S81. Ans. (b) 

Sol.  

 
 

S82. Ans. (e) 

Sol.  

 
 

S83. Ans. (a) 

Sol.  
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S84. Ans. (c) 

Sol.  

 
 

S85. Ans. (d) 

Sol.  

 
 

S86. Ans. (a) 

Sol.  

 
 

S87. Ans. (d) 

Sol.  

 
 

S88. Ans. (b) 

Sol.  
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S89. Ans. (a) 

Sol.  

 
 

S90. Ans. (d) 

Sol.  

 
 

S91. Ans. (c) 

Sol.  

 
 

S92. Ans. (d) 

Sol.  

 
 

S93. Ans. (c) 

Sol.  
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S94. Ans. (a) 
Sol.  

 
 
S95. Ans. (e) 
Sol.  

 
 

Solutions (96-100): 
Sol. 

Box 
T 
- 

H 
G 

- 
- 

F 

- 

C 

L 

- 

V 

- 

- 

X 
 

S96. Ans.(e) 
 

S97. Ans.(d) 
 

S98. Ans.(d) 
 

S99. Ans.(c) 
 

S100. Ans.(e) 
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